| total events O=anylnput 8=anyAccept | Entries 61486 | L2 time used per input event Entries 456413

Mean  1.847 18000 : : : : : : Mean  70.73

RMS 11.56

o =
.|RMS 2.664 -
: %5000
> L : : : : : : :
14000+ | e e proee oo e e
12000
L e S
B000F b
6000

4000

2000 T B e b e s e e

O IlilIIIiIIIIiIIIIiIIIIiIIII

0 1 2 3 4 5 6 7 8 9 0 50 100 150 200 250 300 350 400
Input: 1=btow, 2=etaw  Accept: 4=onelet, 5=diJet, 6=rnd x: time (CPU kTics)

|rate of input events| Entries 47939 4ccpet rate blue:monoJet, red:diJet, black:randon1 Entries 3600
Mean 896.1
RMS 4994

Mean 887.3

w
1

.........................................................................

RMS 494.2

y: rate (Hz)
y: rate (Hz)

w
o

....................................

N
1

.........................

N
o
||||i|||

e S e e — .

L1
1 . . . . 1 AR [ AR I R
1Y)/ RN P o SRR B ressreeseeneass P RN TR SRR e ST
] RS SUREEEE RNt SERR RPN SRRRt SEURR SUSRURRRR I T e e
0- 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | [ 1 | 1 1 1 —"I"'_1"'J:"L"'i"'_l"'J:"I_"'I'"Jl"'J:"L"-I---J---j_---r---I- -r---I---i‘---l---l---i---l--

0 500 1000 1500 2000 2500 0 500 1000 1500 2000 2500
X: time in this run (seconds) X: time in this run (seconds)



BTOW tower, Et>2.0 GeV (input)
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one-Jet Et (accepted) |
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